the ERIE Tool Works company

ENGLISH
MW60 & MW60-PRO

IMPORTANT For Parts & Service DO NOT RETURN the product to the store

Contact our customer service team for assembly questions, parts or service

TEL: 866-316-3743

SAFETY
NEVER over inflate an Air Tire

NEVER use an air compressor to inflate an Air Tire
NEVER allow a person to climb on, or ride in, a wheelbarrow

service@ETWcompany.com

TOOLS & TIPS

ERIEtoolworkscompany.com

Confirm you have all the parts and hardware

Do not fully tighten bolts until final assembly is complete
Tools not included 1) flat screwdriver 2) adjustable wrench

ASSEMBLY

X-BRACES

INSTRUCTIONS
1. Assemble Undercarriage

PARTS LIST

Qty

Description

Tray

Handles

Legs

Stabilizers

Tray Braces

X - Braces

Wedges

Axle Brackets

Axle

Front Guard

Wheel

R IRIRPIRPINININININININ |-

Hardware Bag

Hardware Bag Contents

(all hardware includes bolts & washers)

2 gn

4 - 2-3/4"

7 - 1-1/4"

2. 3"

2. o"

2 -3/4"

Attach the top of the X-Braces to the back of the two Legs using 2 - 1-1/4" bolts in the upper holes.

Attach one Stabilizer to the bottom of each Leg and secure bottom of the X-Brace using 2 - 1-1/4" bolts for each Leg.

Secure the Cross Brace using one 1-1/4" bolt in the center hole.

2. Assemble Front Guard and Handles
Attach the Front Guard to the outside of the front of the handles, using 2 - 2” bolts.

3. Assemble Tray, Wedges, Handles and Undercarriage
Set the assembled undercarriage on a flat surface.

Place the assembled Handles, the Wedges and Tray to align the corresponding holes in the undercarriage.

Note: Wedges align with the Handles so the narrow part of the Wedge points toward the rear of the Wheelbarrow.

Insert 1 - 3" bolt through one of the holes at the back of the tray bottom and through the corresponding hole in the Wedge,
Handle and undercarriage Leg. Hand tighten with washer and nut. Repeat for the other side.

Insert one 5" bolt through one of the front holes in the tray bottom and through the corresponding hole in the Wedge, Handle and

undercarriage Leg. Hand tighten with a washer and nut. Repeat for the other side.

4. Assemble front Tray Braces

Note: the top of the Tray Brace is the shallow angle which mounts against the Tray, while the bottom of the Tray Brace is the 90°

angle which mounts to the Handle.

Mount the top of a Tray Brace through a hole on the front of the tray using 1 - 3/4" bolt. DO NOT mount the bottom of the Tray

Brace to the handle at this time.

Repeat using the other Tray Brace for the other side.

5. Assemble Wheel and Axle

Mount an Axle Bracket on the underside of one of the handles using 2 - 2-3/4" bolts. NOTE the bolt in the front Axle Bracket hole is
also used to mount the bottom of the Tray Brace.

Slide the Axle through the Wheel and insert one end of the Axle into the mounted Axle Bracket.
Mount the second Axle Bracket on the other handle, securing the other end of the Axle, using 2 - 2-3/4" bolts.

6. Tighten entire assembly

Align the Wheel and Axle Assembly so that the Wheel is centered properly (Adjust Axle Brackets if necessary.
Tighten all nuts firmly with a hand wrench or socket (DO NOT over tighten or use power tools for final tightening).

the ERIE Tool Works company 5585 Road 130 Brunner ON NOK 1CO




